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Rabi Yosi said; when were these words said, by capital cases

OVERVIEW

01 " qualified the rule of ¥"7 (that if even one of the hundred 2>y was a X 217p
709, the entire M7y is invalid) that it applies only by capital cases, however by
monetary cases even if some of the 0>7v are 2’211 or 27109, as long as there are
two w2 0°7Y, their testimony is valid. There is a dispute between >"w7 and N15o0IN
why °"7 makes this distinction between Nwa1 °1°7 and N7 °1°7.

- waIN 92805 15 *9pa m1yn HVaY MSNT N1YN 1998M *2N91 DIWn LovNnpn we
»'"'w9 explained because it is written; ‘and the congregation will save’;
implying that it is a /11%» to easily invalidate the testimony in order to save the
soul of the accused murderer.

nooIN asks:
= ©5Y 19N 1NN LOYN 4:’519 N7 NN ﬂb’) /999 237 19 ONT IVITAY Y

And there is a difficulty with his explanation, for if indeed it is so (that the p10o
of 77¥17 2°¢¥m allows us to disqualify all the o7¥), we should derive nnn 157
from nMws1 °1°7 for it is written, ‘there should be one law for you’ —

mdoIn has an additional question on >"wI: .
=729 70 WP THYHY %9 DY IN DY 29 DY "IN 903 MINNIN 230727 N

And furthermore by nuyan 597 it is also written, ‘by the testimony of two or

by the testimony of three, etc. so we compare three to two; just as by two if one is
2100 the M7y is 213, the same by three (or a hundred).

mooIn offers his interpretation:
= 902 IMTYT DIWN 991D 999Y 29U NIV %9727 PNYY 19929 WO 7Y

Therefore the 3''v explained that regarding nywp: 5197 is it properly understood

! 172 17"72. The Wording in "W is RMIIR 137770 77VA 129 2N,
% 13,7% (*yon) 72712, The P09 is discussing a murder case (a capital crime).
3 As long as any justification is found (however slight) we can invalidate the witnesses (since one of them is a 2P
9109 1. However, regarding nan °1°7, we do not find such a P10 of 77971 12> therefore the rule is TXw3a n7vi o»pnn.
* 25,73 (M8) X3P That 7w12 is discussing both mws1 *7 (in 1 7D) and Man *7 (in XD-1° 2°p100) and the 7wAD
concludes 037 7% 7R vown indicating that the same laws apply to man °1°7 and mws1 °7, so if by mws1 17 the
M7y is 23, the same should apply by nmimn 17. See ‘Thinking it over’ # 1 & 2.
3 0,00 (o°v21w) 0™27. We derive the rule (regarding nwo1 °17) that if one 7¥ is a 7109 the m7v is 3, from the 7109 (in
1,10 [Dwow] 0°127) of N Y oY AwHW W 7Y 2w D BV (where we compare '3 to 2); the same 0D is found
regarding m1mn °7, so we should implement the same rule that if 772 1M7Y 9109 W 217p 177 'R RX¥M1 (even if for
some reason we do not want to derive N7 °1>7 from NMWws1 17 based on the P05 of IR VOWY).
® The beginning of that P10 is NXLA Y991 Ny 227 WK TR 7V 2> XY from where we derive that the X" is ineffective
for nxum v but he is effective to obligate one for a 7y12W regarding MMy 27
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that we can derive three (or more) 07V from two 27V that if one is a 9109, their

testimony is 702 -
- 591239 1YV MY IDD IN 2197 )01 TR NEMI 33 BIY NPT OIYN

Because that just as by two 0°7v, if one turns out to be a 2197 or a o2, their
testimony is completely invalid (regarding mw»s3 >27) -

= 99197 DIV B I NYHVWA 791 DIV NYYI NN NNYNM)
And as of now (once we know that one of the two is 2109), their testimony cannot
accomplish anything (it is as if there was no testimony at all), therefore also by
three (or more) 07y, which we compare to two 2’7y, they are all completely

nullified (like by two) -
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However, regarding nuan 137 that even by two 2°7v, if one is found to be a

9108 X 217p, the second remaining 7v, is not completely nullified -
- YAV 1Y 29NY

For the one remaining 7v obligates the defendant to swear and contradict the 7v;
otherwise the defendant will need to pay, so since by two it is not *m3? 7°02 M7V regarding

money matters -
$02TY INVA MTYN DPPHN DIV IN 299D 1912 THN R8N 993 [NWHY] 755

Therefore [by three] as well, if one of them is found to be a o2 I 217p, the
M7y will be sustained by the remaining proper witnesses.

SUMMARY

According to *"w1 it is only by mws1 °17 that we say JNMTY 7109 IR 217p 171 'R R¥M)
72°03, because by mws1 17 it says 77v7 12°8M (but not by mnn °1°7). According to
mooIn, by Mwo1 °1°7 the MY of '2 is completely invalid if 7105 j7n '® X¥n1, therefore
by "3 it is also 79°02 1M7Y; however by 1n where even by two it is not entirely 712
(since the remaining 7V is 2°°11 a 7¥12w), therefore by three it is also not completely
5v3, but rather XW2a MTY7 0»pPNN.

THINKING IT OVER

1 mpoIn asks on *"wA that just as we are lenient by mw»s1 °1>7 we should be lenient
by nimn *1°7 (since it says 7% vown).” However by mwsi °1*7 we are lenient to save
the wo3, but by mumn 17 if we are lenient for one (the Mm% for example), we are
harsh against the other (the m9n). The concept of ¥2°¢m cannot apply here!®

2. How does mpoin answer his first question” that we should derive mamn *17 from
mwa1 °1°7 based on the P05 of TR vowN?'’

7 See footnote # 4.
¥ See (1) R"wAn.
? See footnote # 4.
10 See T "wnon XK # 46.
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